
PRESENT SIMPLE

TENSE

I wear blue socks.

She buys a colourful skirt.



VERBS
(Regular & Irregular)

Mention some verbs you can use

when you are shopping

REGULAR VERBS IRREGULAR VERBS

E.g.     Fit. Fitted. Fitted E.g.     Buy. Bought. Bought



buy

buys

buy

SIMPLE PRESENT TENSE
(AFFIRMATIVE +)

S + V Present ( ) + C

a small wallet.

a shiny necklace.

green trousers.

I

You

He

She

It

We

You

They



EXERCISE 1 - Complete the following sentences in
Simple Present using the verbs in brackets.

1. He ___buys___ [buy] a blue jacket and 2 coats. 

2. It __________ [match] with your orange blouse. 

3. That pullover __________ [cost] a lot.

4. Those pants __________ [fit] you perfectly. 

5. I __________ [try on] the big sunglasses.

Extra Point

Write 3 more sentences using regular or irregular verbs.

6. She _______________________________________________________.

7.  We _______________________________________________________.

8.  You _______________________________________________________.



do not

does not

do not

(don’t)

(doesn’t)

(don’t)

SIMPLE PRESENT TENSE
(NEGATIVE -)

S + Auxiliary + not + V Inf + C

I

You

He

She

It

We

You

They

[do-does]

buy

buy

buy

a small wallet.

a shiny necklace.

green trousers.



EXERCISE 2 - Change the sentences from Exercise 1
into Negative and underline the Negative Form .

1. He buys a blue jacket and 2 coats.  

(-)    He doesn’t buy a blue jacket and 2 coats.  

2.

3.

4.

5.

6.

7.

8.



SIMPLE PRESENT TENSE
(INTERROGATIVE ?)

Auxiliary + S + V Inf + C ?

Do

Does

Do

I

You

He

She

It

We

You

They

[Do-Does]

buy

buy

buy

a small wallet ?

a shiny necklace ?

green trousers ?



SHORT ANSWERS

Yes,

I

you

he

she

it

we

you

they

do. 

does.

do.

No,

I

you

he

she

it

we

you

they

don’t

doesn’t

don’t

(-) She doesn’t buys a collar.

(-) She doesn’t buy a collar.

(?) Does she buys a collar?

(?) Does she buy a collar?
Common mistakes

do not = don’t

does not = doesn’t
Contractions



EXERCISE 3 – Complete the questions with their
Auxiliaries (Do/Does) and match the 2 columns to
create sentences, then answer each one.

1. Does he

2. _____ it match

3. _____ that pullover

4. _____ those pants fit

5. _____ I try on

Yes, ___________.

No, ___________.

Yes, ___________.

No, he doesn’t.

No, ___________.

a. cost a lot?   

b. the big sunglasses?  

c. with your orange blouse?   

d. buy a blue jacket and 2 coats?   

e. you perfectly? 



Affirmative (+)

S + V Present ( ) + C

buy a small wallet.

buys a shiny necklace.

buy green trousers.

I

You

He

She

It

We

You

They

(don’t)

(doesn’t)

(don’t)

Negative (-)

S +Auxiliary + not + V Inf + C
[do-does]

do not buy a small wallet.

does not buy a shiny necklace.

do not buy green trousers.

I

You

He

She

It

We

You

They

Interrogative (?)

Auxiliary + S + V Inf + C
[Do-Does]

buy a small wallet?

buy a shiny necklace?

buy green trousers?

I

You

He

She

It

We

You

They

Do

Does

Do

do.

does.

do.

Short Answers

I

you

he

she

it

we

you

they

Yes,

I

you

he

she

it

we

you

they

No,

don’t.

doesn’t.

don’t.
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